A

KAMBALA

MATHEMATICS

2 UNIT
PRELIMINARY ASSESSMENT TASK #2.
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Time Allowed: 50 minutes.

INSTRUCTIONS

Py

.

This task contains 3 questions of 14 marks each. Marks for each part question are shown.

Answer all questions on the writing paper provided, Start each question on a new page.
Calculators may be used.
Show all necessary working.

Marks may be deducted for careless or badly arranged work.

Question1 (Start @ new page).

14 Marks
(a) A function is defined as foliows:
x for-3=sx<3
flxy=
2x-3 for3<xs<s
Evaluate A-1) + £3) +A5).
(8) The function f(x) is given by f(x) = x* - 7:
Is f(x)an odd or even function or neither? Give reasons for your answer . 2
@ If f(x)=x~4x+3:
(i) Find f(-1) 1
(i)  Find the values of x for which f(x)=0 2
(i) Find the y-intercept of f(x)=x?-4x+3 1
(iv) Sketch f(x)=x®-4x+3 showing where it cuts the x and y axes 1
(iv) State the domain and range of £(x) = x* —4x + 3 2
(a) Sketch the curve (x + 3)* + y* = 4.on suitably labeled axes. 2
(8). Sketch the graph of y = | x|~ 3 2




Question 2 (Start a new page) 14 Marks Question 3 - (Start a-new page) 14 Marks

(a) Using the diagram below, find the value of:

(a) ) " Sketch a graph of .y =cosx -for‘ 0% = x = 360°on suitably labelled axes.
(i) Mark the value of :c0s240° on'the diagram;
i 2
” ® * (b) Find the exact value of cosec330°
: i v (to 3 significant figures) 2

(c) Simplify:

@ sin®70° + sin®*20°
(b) The angle of depression from a red light camera mounted on a pole to the stop line of a set of
traffic lights is 28", The stop line is 12.25m from the base of the pole on flat ground. (if) sinBcot Osec®d

(d) Prove that : (1+tan*B)cos? O =1

(e) Using the diagram below, find the exact value of K,

e
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-
) Draw a diagram and mark in the above information 1
(i)  How high above the ground is the red light camera? (to 1 dec.place) 2
® In the diagram below, find the area of AABC, correct to the nearest cm?.
C
(c) If tana = 1—52— and cosais negative, find the exact value of sin o. 2
6 cm 11 cm

(d) Solve sin8=0.187 for 0° <8< 360" A B

giving ALL selutions correct to the nearest minute, 2
) END:OF TASK

(e) Solve cos2x= ~3§— for 0° < x < 360° giving ALL solutions. 3
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